
WW PROFILE_SERVICE MUNUAL 1/ 5 

S/N Series no. ERP code/
Specific part No. Specification Description QTY Remarks

3 ≥1358301 5.04.01.01.0095 11-0166-03-00-00 (50Degree lens) Virtual Lens Assembly 1

3 ≥1358301 5.04.01.01.0094 11-0166-03-00-00 (36Degree lens) Virtual Lens Assembly 1

3 ≥1358301 5.04.01.01.0093 11-0166-03-00-00 (26Degree lens) Virtual Lens Assembly 1

3 ≥1358301 5.04.01.01.0092 11-0166-03-00-00 (19Degree lens) Virtual Lens Assembly 1

2 ≥1358301 5.05.01.15.0922 00-0445-02-00-00 Framing Assy 1

1 ≥1358301 5.05.01.01.0662 11-0144-01-00-00 Base Box Assembly 1

S/N Series no. ERP code/
Specific part No. Specification Description QTY Remarks

30 ≥1358301 5.02.02.01.3723-101
IC_HY1112/2U01V101(5.02.03.01.2675-

0-0,PCB1089-0-,6.04.03.99.0054,贴片
IC)

Half-finished IC Software 1

29 ≥1358301 5.02.02.01.3722-101
IC_HY1112/1U01V101(5.02.03.01.2645-
0-0,PCB1088-0-B,6.04.03.99.0027,贴片

IC)
Half-finished IC Software 1

28 ≥1358301 5.01.03.02.0172-E T90-01C-01 ADC12压铸铝  _E Floor Stand 1

27 ≥1358301 6.02.02.02.0003 LIB_JJ_D15X8 Machine Leg 4

26 ≥1358301 5.01.02.11.0012-A T90-01B-01 Framing Fixing Screw 2

25 ≥1358301 6.03.02.05.0090-A 90W LED聚光镜 GS-LENS-1112-169
_A

Lens Assy 1

24 ≥1358301 5.01.02.09.1028-0 T90-01B-02 铝、抛光 Lens Fixing Block 2

23 ≥1358301 6.04.12.99.0037 K905B(70V 3A 白色PBT材料) COB Connector 1

22 ≥1358301 5.02.03.01.2596-0-0 HY-WIEC-1355-01-1(LJB0253-0-A) PCB Assembly 1

21 ≥1358301 5.01.01.01.9259-A T90-01A-07 Fixing Plate 2

20 ≥1358301 6.04.05.03.0179 CXA2590-0000-000R0YX4(Y2)30F (亮
度BIN:X4、Y2，色温：3000K)

LED 1

19 ≥1358301 6.02.02.03.0003 φ10 (φ10X12X2.0mm) 橡胶 黑色 Cable Outlet Coil 1

18 ≥1358301 5.01.01.01.9256-A T90-01A-05  _A Fixing Board for Lens 1

17 ≥1358301 5.01.01.01.9257-0 T90-01A-06 Holder for Fan 1

16 ≥1358301 5.01.03.02.0173-0 T90-01C-02 ADC12压铸铝 Upper Cover 1

15 ≥1358301 6.02.01.03.0039-A T90-01C-07 Sliding Block 4

14 ≥1358301 6.04.16.02.0087 SUNON EE92252B1-000C-G99(DC24V
2.1W 51.5CFM 34DB)

DC Fan 1

13 ≥1358301 6.02.02.04.0071-A TB-WS300-01 环保阻燃硅胶黑色40° Quakeproof Rubber 4

12 ≥1358301 5.01.01.01.9249-0 T90-01A-11 Handle 1

11 ≥1358301 5.02.03.01.2645-0-0 HY-WIEC-1378-01-1(PCB1088-0-B) PCB Assembly 1

10 ≥1358301 6.04.18.09.0017 外径8mm,内径3.2mm,厚度4mm黑色配
6X6轻触开关

Switch Cap 4

V 1.0.1

11-0144-00-00-00

11-0144-01-00-00

编制：                          审核：                                    批准：         



WW PROFILE_SERVICE MUNUAL 2/ 5 

9 ≥1358301 5.05.01.04.0666 11-0144-01-02-00 Side Plate Assembly 1

8 ≥1358301 5.01.04.01.0029 M5X30 两边M3丝(TB03-001-M5X30-
3S)

Hex Spacer 4

7 ≥1358301 5.02.03.01.2675-0-0 HY-WIEC-1383-01-2（PCB1089-0-B） PCB Assembly 1

6 ≥1358301 6.04.19.01.0111-0 T90-01-02-00 Radiator 1

5 ≥1358301 6.04.11.04.0197
EDS250-8428P(IN:100-240VAC

50/60Hz OUT:84V/2.5A,28V/1.5A) Power Supply 1

4 ≥1358301 5.01.01.01.8478-0 F250-01A-50 外部件 Friction Disc 2

3 ≥1358301 5.01.02.09.0522-A F250-01B-29 Outer Locating Holder 2

2 ≥1358301 5.01.01.01.7814-A F250-01A-18 (哑光黑、外部件)  _A Handle Spacer 2

1 ≥1358301 6.01.06.04.0157-0 M10-B型 JB/T7270.12-94(Z52-2)电镀铁
、哑光黑

Adjustable Handle 2

S/N Series no. ERP code/
Specific part No. Specification Description QTY Remarks

8 ≥1358301 6.04.12.04.0098 NAC3MPB-1(插座)20A 250V/AC 灰白
色+蓝色螺母（NEUTRIK）

Power Socket 1

7 ≥1358301 6.04.12.04.0097 NAC3MPA-1 20A 250V/AC 蓝色
(NEUTRIK)

Power Socket 1

6 ≥1358301 5.01.01.01.9255-C T90-01A-04  _C Base Side Plate I 1

5 ≥1358301 5.01.04.02.0002 M5X8.5 一边M3丝 一边M3牙牙长
7mm(TB03-002-M5X8.5-3SY-7)

Hex Spacer 4

4 ≥1358301 6.04.20.03.0015 5T 250V 3.15A 延时 玻璃 φ5X20mm Fuse 1

3 ≥1358301 6.04.12.17.0001 R3-11A 10A250VAC φ5*20mm Fuse Tube Holder 1

2 ≥1358301 5.02.04.04.0059 PCB0211B_B00 XLR Assy 1

1 ≥1358301 5.01.01.01.9107-0 FPAR7Q-01A-04 XLR Socket Fixing Board 6

S/N Series no. ERP code/
Specific part No. Specification Description QTY Remarks

12 ≥1358301 5.03.01.01.1088-0 T250-01C-06 环保阻燃ABS黑色 Profile Handle 4

11 ≥1358301 5.01.01.01.10185-0 T180-01A-09 Preforming II for Profiling 2

10 ≥1358301 5.01.01.01.9261-B T90-01A-10 Profile Bracket Plate 1

9 ≥1358301 5.01.03.02.0174-A T90-01C-03 Side Cover I 1

8 ≥1358301 5.01.01.01.9262-B T90-01A-12 抛光 Profile Filter 4

7 ≥1358301 5.01.01.01.9616-A T180-01A-07 Preforming I for Profiling 1

6 ≥1358301 6.01.05.92.0087-B T250-01Q-01 黑色 弹簧钢
Cutting Light Pressing Plate

Spring
4

5 ≥1358301 5.01.01.01.9260-B T90-01A-08 Spring Pressing Plate 1

4 ≥1358301 5.01.01.01.9258-A T90-01A-09 Seal Plate for Gobo 1

3 ≥1358301 6.01.06.04.0029-A TB05-021 M4X8 铜 镀黑镍  _A Thumb Screw 2

2 ≥1358301 5.01.03.02.0175-B T90-01C-04 Side Cover II 1

1 ≥1358301 5.01.01.01.9254-0 T90-01A-03 Profile Baffle 4

00-0445-02-00-00

11-0144-01-02-00

编制：                          审核：                                    批准：         



WW PROFILE_SERVICE MUNUAL 3/ 5 

S/N Series no. ERP code/
Specific part No. Specification Description QTY Remarks

11 ≥1358301 5.01.03.02.0179-A T90-01C-08 Lens Cover II 1

10 ≥1358301 5.01.03.02.0178-A T90-01C-05 Lens Cover I 1

9 ≥1358301 6.02.01.03.0038-A T90-01C-06 POM黑色 Guidepost 8

8 ≥1358301 5.01.02.99.0071-0-J0 T250-01Q-03 Clucth Strip 1

7 ≥1358301 6.01.05.92.0088-0 T250-01Q-02 黑色 弹簧钢 Clip strip Spring 1

6 ≥1358301 6.04.21.01.0129-A OVAL36FD-01C-03 Rubber Mat 2

5 ≥1358301 5.01.02.11.0011-C T90-01B-03 Focus Manual Screw 2

4 ≥1358301 5.01.02.09.1104-0 T180-01B-03 Rear Lens Frame 1

3 ≥1358301 6.03.01.99.0012 GS-LENS-1193-185 19度后组 Φ97弯月
非球面(九维JW-0A2452)

Lens 1

2 ≥1358301 5.01.02.09.1107-0 T90-01C-05 Front Lens Frame 1

1 ≥1358301 6.03.01.99.0011 GS-LENS-1193-184 19度前组 Φ128双凸
非球面(九维JW-0A2451)

Lens 1

S/N Series no. ERP code/
Specific part No. Specification Description QTY Remarks

11 ≥1358301 5.01.03.02.0179-A T90-01C-08 Lens Cover II 1

10 ≥1358301 5.01.03.02.0178-A T90-01C-05 Lens Cover I 1

9 ≥1358301 6.02.01.03.0038-A T90-01C-06 POM黑色 Guidepost 8

8 ≥1358301 5.01.02.99.0071-0-J0 T250-01Q-03 Clucth Strip 1

7 ≥1358301 6.01.05.92.0088-0 T250-01Q-02 黑色 弹簧钢 Clip strip Spring 1

6 ≥1358301 6.04.21.01.0129-A OVAL36FD-01C-03 Rubber Mat 2

5 ≥1358301 5.01.02.11.0011-C T90-01B-03 Focus Manual Screw 2

4 ≥1358301 5.01.02.09.1104-0 T180-01B-03 Rear Lens Frame 1

3 ≥1358301 6.03.01.99.0014 GS-LENS-1193-187 26度后组 Φ97双凸
非球面(九维JW-0A2454)

Lens 1

2 ≥1358301 5.01.02.09.1108-A T180-01B-06 Front Lens Frame 1

1 ≥1358301 6.03.01.99.0025 GS-LENS-1193-195,26度前组 Φ128双凸
非球面(九维JW-0A2473)

Lens 1

S/N Series no. ERP code/
Specific part No. Specification Description QTY Remarks

11 ≥1358301 5.01.03.02.0179-A T90-01C-08 Lens Cover II 1

10 ≥1358301 5.01.03.02.0178-A T90-01C-05 Lens Cover I 1

9 ≥1358301 6.02.01.03.0038-A T90-01C-06 POM黑色 Guidepost 8

8 ≥1358301 5.01.02.99.0071-0-J0 T250-01Q-03 Clucth Strip 1

7 ≥1358301 6.01.05.92.0088-0 T250-01Q-02 黑色 弹簧钢 Clip strip Spring 1

11-0166-03-00-00 (19 Degree lens)

11-0166-03-00-00 (36Degree lens)

11-0166-03-00-00 (26Degree lens)

编制：                          审核：                                    批准：         



WW PROFILE_SERVICE MUNUAL 4/ 5 

6 ≥1358301 6.04.21.01.0129-A OVAL36FD-01C-03 Rubber Mat 2

5 ≥1358301 5.01.02.11.0011-C T90-01B-03 Focus Manual Screw 2

4 ≥1358301 5.01.02.09.1104-0 T180-01B-03 Rear Lens Frame 1

3 ≥1358301 6.03.01.99.0026 GS-LENS-1193-196,36度后组 Φ97双凸
非球面(九维JW-0A2466)

Lens 1

2 ≥1358301 5.01.02.09.1106-C T180-01B-04  _C Front Lens Frame 1

1 ≥1358301 6.03.01.99.0015 GS-LENS-1193-188 36度前组 Φ105弯月
非球面(九维JW-0A2455)

Lens 1

S/N Series no. ERP code/
Specific part No. Specification Description QTY Remarks

11 ≥1358301 6.02.01.03.0038-A T90-01C-06 POM黑色 Guidepost 8

10 ≥1358301 5.01.03.02.0206-0 T90-01B-19 Lens Cover II 1

9 ≥1358301 5.01.03.02.0205-0 T90-01B-18 Lens Cover I 1

8 ≥1358301 5.01.02.11.0011-C T90-01B-03 Focus Manual Screw 2

7 ≥1358301 6.04.21.01.0129-A OVAL36FD-01C-03 Rubber Mat 2

6 ≥1358301 6.01.05.92.0113-NR0-J0-L T90-01B-20 Clucth Strip 1

5 ≥1358301 6.01.05.92.0088-0 T250-01Q-02 黑色 弹簧钢 Clip strip Spring 1

4 ≥1358301 5.01.02.09.1376-NR0-L T90-01B-08 rear lens metal ring 1

3 ≥1358301 6.03.01.99.0018 GS-LENS-1193-191 50度后组 Φ97平凸
非球面(九维JW-0A2458)

Lens 1

2 ≥1358301 5.01.02.09.1375-NR0-H0-L T90-01B-07 top lens metal ring 1

1 ≥1358301 6.03.01.99.0017 GS-LENS-1193-190 50度前组 Φ97平凸
非球面(九维JW-0A2457)

Lens 1

11-0166-03-00-00 (50Degree lens)

编制：                          审核：                                    批准：         



WW PROFILE_SERVICE MUNUAL 5/ 5 

升版 新增 更改

19/26/36 Degree lens的区别为
两个镜片与前镜头框不同；

50Degree lens几乎完全不同

编制：                          审核：                                    批准：         


